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Noughts & Crosses

1 — Person A went first
and scored 1 point for
placing their word.
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Aim: to score more points than your
partner by placing words into the grid
which relate to each other and explaining
this relationship successfully to your
partner.
e
2 — Then person B went &
scored 1 point for placing their
word + a further 2 points
because it could be related to
the word it was placed next to.
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4 - If person B }:an place a word in this
box, they will score 1 point for the 3 - Person A scored 1 point
word, a further 2 points for relating it to for their word + 4 further
‘government’ and a further 4 points for points because it related
completing the row by relating their because it could be related
word to both ‘tourist industry’ and to BOTH of the adjacent
‘economic’. A total of 7 points for one words.
word!!!
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